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QUESTION 1

Given:

40.

String outputString;

41.

try {

42.

Player p;

43.

p = Manager.createPlayer("http://sun.com/barfoo.media");
44,

p.setMediaTime(8000);

45,

p.start();

46.

outputString = "Playing!";

47.

} catch (MediaException me) {

48.

outputString = "Media Exception!";
49.

} catch (IOException ioe) {

50.

outputString = "IO Exception!";
51.

}

Which is the result if the device does NOT support setting the media time on p?

A. outputString is set to "IO Exception!" and the media is NOT played.
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B. outputString is set to "Playing!" but the media is NOT played.
C. outputString is set to "Playing!" with media playing from the beginning.
D. outputString is set to "Media Exception!" and the media is NOT played.

Correct Answer: D

QUESTION 2

Which two methods are available only within classes of the MIDP low-level Ul API? (Choose two.)
A. setFullScreenMode()

B. hasRepeatEvents()

C. setPreferredSize()

D. notifyStateChanged()

E. getLayout()

Correct Answer:. AB

QUESTION 3

What is the minimum configuration that JTWI 1.0 requires?
A.CDC

B.CLDC 1.1

C. no specific configuration

D.CLDC 1.0

Correct Answer: D

QUESTION 4

A MIDlet that is to be installed on a phone has different values for the MIDlet-Name property between the JAD file and
the manifest in the JAR file. Which is true?

A. A dialog is presented to resolve the conflict.

B. The value in the manifest overrides the value in the JAD file.
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C. The value in the JAD file overrides the value in the manifest.
D. The MIDlet installation process will be aborted.

Correct Answer: D

QUESTION 5

Given:

30.

public boolean X(byte[] Y) throws lllegalArgumentException {
31.

ByteArraylnputStream bais = new ByteArraylnputStream(arg);
32.

DatalnputStream dis = new DatalnputStream(bais);

33.

String type = null;

34.

try {type = dis.readUTF();}

35.

catch (Exception e) {}

36.

return(2);

37.

}

Which substitutions for X, Y, and Z in the code create a valid implementation of RecordFilter that matches records

whose type is NOT deleted?

A. X'is matches Y is type Z is ltype.equals("deleted"”)
B. X is matches Y is arg Z is type.equals("deleted")
C. X'is matches Y is arg Z is 'type.equals("deleted")
D. Xis match Y is arg Z is type.equals("deleted")

E. Xis match Y is type Z is 'type.equals("deleted™)
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Correct Answer: C

QUESTION 6

Which method is initially called when the MIDlet starts in response to a push notification?
A. PushRegistry.listConnections()

B. PushRegistry.notifylncomingConnection()

C. MIDlet.startApp()

D. MiDlet.notifyApp()

E. MIDlet.pushApp()

F. MIDlet.resumeRequest()

Correct Answer: C

QUESTION 7

Which two methods are available only within classes of the MIDP low-level Ul API? (Choose two.)
A. setPreferredSize()

B. setFullScreenMode()

C. getLayout()

D. hasRepeatEvents()

E. notifyStateChanged()

Correct Answer: BD

QUESTION 8

Assume a particular JTWI phone supports server socket connections. A MIDlet running on the phone attempts to
register a connection using:

PushRegistry.registerConnection(connection, midlet, filter); Assume connection, midlet, and filter are NOT null. The
statement is executed and throws a ConnectionNotFoundException. What causes the exception?

A. The phone does NOT support push connections using server sockets.

B. The requested connection is already registered.
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C. The syntax of connection is invalid.
D. The specified MIDlet does NOT exist.

Correct Answer: A

QUESTION 9

Which two are true about sockets and datagrams? (Choose two.)

A. Closing a SocketConnection automatically closes any associated input or output streams.
B. Datagrams are used to send packets of data over a SocketConnection.

C. Data sent over a TCP/IP socket is received in the same order that it was sent.

D. Both datagrams and sockets use streams as the basis for their communication.

E. Datagrams are guaranteed to reach their intended destination.

F. A datagram is an independent, self-contained message sent over the network.

Correct Answer:. CF

QUESTION 10

Which three APIs may untrusted MIDlets use without explicit confirmation by the user? (Choose three.)
A. javax.microedition.io.HttpConnection

B. javax.microedition.io.PushRegistry

C. javax.microedition.rms

D. javax.microedition.lcdui

E. javax.microedition.media

Correct Answer: CDE

QUESTION 11

A suite is signed with a X.509 PKI certificate. The root certificate is not present in the device\\'s keystore. What is the
installation result?

A. The JAD file is rejected. Installation fails.

B. The JAD file is rejected. It installs in the untrusted domain.
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C. Authentication fails. It installs in the untrusted domain.
D. Authentication fails. Installation fails.

Correct Answer: D

QUESTION 12

Which is true about a Ticker object?

A. The Ticker can be started and stopped through methods in the API.

B. Direction and speed of scrolling can be controlled through methods in the API.
C. A Ticker may be shared by several Displayable objects.

D. Ticker is a subclass of Screen.

Correct Answer: C

QUESTION 13

A MiIDlet suite running on a GSM phone successfully receives an SMS text message msg from another GSM phone.
The suite is using a valid SMS MessageConnection object conn opened in server mode.

The suite tries to respond back using:

msg.setPayloadText("thank you!");

conn.send(msg);

Which is true?

A. The code always fails because the connection object is missing an address for sending a response.
B. The code can succeed because the connection object contains an address for sending a response.
C. The code can succeed because the message object contains an address for sending a response.
D. The code always fails because the message object is missing an address for sending a response.

Correct Answer: C

QUESTION 14
Which is true about CLDC support for accessing system property information?

A. CLDC supports a subset of java.util.Properties and also provides additional property information using
System.getProperty().
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B. Full support for java.util.Properties is available within CLDC.
C. Property information is available in CLDC using System.getProperty().
D. CLDC supports a subset of java.util.Properties.

Correct Answer: C

QUESTION 15

The binding of networking protocols to a MIDlet at runtime can be compared to a type of relationship. Which relationship
most closely matches the binding?

A. caller and callee

B. mark and sweep

C. application and device drivers

D. specification and implementation

Correct Answer: C
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